2. MIPAS Daily Report for level 2 products summary report

(See mipas_daily_report_level2_ ML2PP_7_03_W_20120404.html for a detailed report).
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e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value

Report version

v1.11 26-05-2015

Time of report generation

21MAY2016 06:17:31

Data source version

ML2PP/7.03-W

Processing scope for products

04APR2012 00:00:00 to 05APR2012 00:00:00

Start time of first product within scope |03APR2012 23:32:12

Stop time of last product within scope |05APR2012 00:35:17

Total number of level 2 products 15

Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

# Product name Start time Stop time Prod err|Number of scans (tot/proc) Quality summary warnings

0 |MIP_NL__2PWDSI20120403_233212_000059913113 00203_52803_1000.N1|03APR2012 23:32:12 |04APR2012 01:12:03 |0 89/89

1 |MIP_NL__2PWDSI20120404_011209_000001233113_00204_52804_1000.N1|04APR2012 01:12:09 | 04APR2012 01:14:13|0 2/2

2 |MIP_NL__2PWDSI20120404_025254_000059833113_00205_52805_1000.N1|04APR2012 02:52:54 | 04APR2012 04:32:37 |0 95/95 VMR_TERM_MACRO_MICRO[F14/macro:3; HCN/micro:1]

3 |MIP_NL__2PWDSI20120404_043244_000060143113_00206_52806_1000.N1|04APR2012 04:32:44 | 04APR2012 06:12:58 |0 96/96 VMR_TERM_MACRO_MICRO[HCN/micro:1]

4 |MIP_NL__2PWDSI20120404_061304_000060143113_00207_52807_1000.N1|04APR2012 06:13:04 | 04APR2012 07:53:19 |0 96/96 VMR_TERM_MACRO_MICRO[HCN/macro:1; Fl4/macro:1; HCN/micro:1; F14/micro:1]
5 |MIP_NL__2PWDSI20120404_075325_000060223113_00208_52808_1000.N1|04APR2012 07:53:25 | 04APR2012 09:33:46 |0 82/82 VMR_TERM_MACRO_MICRO[N20O/macro:1; F14/macro:1]

6 |MIP_NL_ 2PWDSI20120404_093353_000059543113_00209_52809_1000.N1|04APR2012 09:33:53 |04APR2012 11:13:06 |0 95/95 VMR_TERM_MACRO_MICRO[F14/macro:2; O3/micro:1; COF2/micro:1]
7 |MIP_NL__2PWDSI20120404_111342_000060143113_00210_52810_1000.N1|04APR2012 11:13:42 | 04APR2012 12:53:56 |0 96/96 VMR_TERM_MACRO_MICRO[HCN/micro:1]

8 |MIP_NL__2PWDSI20120404_125403_000060143113 00211_52811_1000.N1|04APR2012 12:54:03 |04APR2012 14:34:17 |0 96/96 VMR_TERM_MACRO_MICRO[HCN/micro:1]

9 |MIP_NL__2PWDSI20120404_143423_000059833113_00212_52812_1000.N1|04APR2012 14:34:23 | 04APR2012 16:14:06 |0 95/95 VMR_TERM_MACRO_MICRO[F14/macro:1]

10 |MIP_NL__2PWDSI20120404_161412_000060143113_00213_52813_1000.N1|04APR2012 16:14:12 |04APR2012 17:54:27 |0 96/96 VMR_TERM_MACRO_MICRO[HCN/micro:1]

11 |MIP_NL__2PWDSI20120404_175433_ 000060143113 _00214_52814 1000.N1|04APR2012 17:54:33 |04APR2012 19:34:47 |0 96/96 VMR_TERM_MACRO_MICRO[F14/macro:3; HCN/micro:2]

12 |MIP_NL__2PWDSI20120404_193453_000059833113_00215_52815_1000.N1|04APR2012 19:34:53 | 04APR2012 21:14:36 |0 95/95 VMR_TERM_MACRO_MICRO[F14/macro:3; HCN/micro:1]

13 |MIP_NL__2PWDSI20120404_211443_000060143113_00216_52816_1000.N1|04APR2012 21:14:43 | 04APR2012 22:54:57 | 0 96/96 VMR_TERM_MACRO_MICRO[HCN/micro:1]

14 |MIP_NL__2PWDSI20120404_225503_000060143113_00217_52817_1000.N1|04APR2012 22:55:03 | 05APR2012 00:35:17 |0 96/96 VMR_TERM_MACRO_MICRO[F14/macro:1; HCN/micro:2]

2.2 Processing performance indicators
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2.2.1 Successful retrievals

H20
03
HNO3
CH4
N20
NO2
F11
CLNO
N205
F12
COF2
CCL4
HCN
F14
F22

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.
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2.2.2 Pressure overview



This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview

2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.



2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.

2.2.4.7 F11 overview This sect
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shows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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£.0x107F
401078
Oz 20, 240 000,00 D00, 00 000050 Oo:00, 00 Q0 0L 00 0 00,00
{15 A1 /501 20,401 /2012 o4 f02 73012 18,700 /2012 (15 /013 /20112 260/03 75012 04704 2012
Time= [atart of day]
CLNO wmr [ppmy] for pressure 100.0 KPa
04012 : ; :
0.0010
E 0.2008 H—+—0C tn —E0 deg
% e —B0 tn —B5 dag
., “—B5 to 20 dag
W, & [F-E1-2C to 20 deg
Z 20 to &5 deg
& 65 to A0 deg
= B0 to 90 deg
& 0.0004

0.0002

R

D000, 0€: 00,00 O0:00.00 000050 (00,00 O0:00.00 0C: 00,00
5 £ 501 20,01 /2012 4 2 /3012 18 /0% /2012 05,/ 03 /5012 20,03 /5012 O 7534 /2012

Tirz [atart of dayv]



Caily overage [see title]

Caily overage [see title]

35x107

MZDS vrnr [pprev] far pressure 100.0 hRa

A0x1ot

B (TR S LA e R SRSV, - OO hnensmmensnnensnsnensnine

2.0x10~*

1Gx107

1.0%107

5.0x107

................................................

X8 %
R

b ?

2 '
b

e

'
"

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

(¢: 00,00
20,01 /2012

O0:00,00
04 /12 /3012

a0 :00.00
19,705 /2012
Time= [atart of day]

(000,00
05,03 /2012

000,00
04,704 /2012

o
O 0L
05 /01 S201%
LNIER e

45x107

4.0=1074

A Ex107H---

Anxig™

25x107

20107

F12 vir [ppmv] far pressure 100.0 hPa

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=85 1o =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

D000,
5 £ 501

0€: 00,00
20,01 /2012

O0:00.00
4 2 /3012

a0 :D0.50
19,705 /2012
Tirz [atart of dayv]

(00,00
05,/ 03 /5012

O0:00.00
20,03 /5012

0C: 00,00
O 7534 /2012




Caily average [see titla]

Craily averags [:scc ’r.'lﬂ-:]

COFZ wmr [pprmy] for pressure 100.0 hPa

1140 :
n i
oy St - St SR el T R i e i
R S """""""""""""""" """""""""""""""" RS RR R H—+—00 ta B0 deg
: : ; : : | P80 to —B5 deg
: : : : —B5 tg —20 deg
T . N VRO . . S | FrE-20 ta 20 deg
: : : 20 to &5 deg
E | —B& to 30 deg
] : : i § &0 to 90 deq
BN anncrennnsnnnnnsnsnnansend: hssososcsanusonoscsonices e e ki annsnnnnnensnnanssnsssccrdimsnorsasssnnnnssssnnassenns
a __ﬂr_m,.,mm,,_,.,._f......,__FmWmmwm“",_W“m,,:fww_:."..mm,.,-,.,ag:mr_:mp.v..mmm,.;,fv..mm,.,-,.,m-wgf;
—2wiat
Oz 2, 2R 000,00 (IR EAN Y 000000 00, 00 D0 D0 00 0 00,00
05,01 /5013 20701 /2012 o402 /3012 19 7092 /2012 015,/ 03 /2012 20,/03,/5013 04704 /2012
Timz [atart of day]
CCL4 wrnr [pprewv] far pressure 190.0 hPa
1421074 : : H
H——00 ta —E0 deg
e _B0 to —BS deg
—85 1o 210 deg
?_Dx-l.:,-ﬁ ---------------------------- -i----------------------------u: ---------------------------- -i----------------------------a:--x -------------------------- Er----------------------------E—- [FE1-20 ta 20 dEg
: : : : : : 20 to &5 deg
64 to 30 deg
&0 to 90 deg
0O H . i : i E
oz S, 20 00 00,00 D000 000000 O0:00, 00 LRI 0 0,00
85/01 /2012 20701 /2012 od/02 /2012 19 /02 /2012 05,/ 03 /2012 20/03,/2012 04704 /2012

Tirn= [El’tu:lrt of dﬂ}"]



HCM wmr [pprav] for pressure 100.9 hPa

1.0 '
= (a0 ta —50 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _EE tD E:I dEE
SRk : : : &0 to 90 deg
&

0.2

0.8

Oz 2, 2R 000,00 (IR EAN Y 000000 00, 00 D0 D0 00 0 00,00
05,01 /5013 20701 /2012 o402 /3012 19 7092 /2012 015,/ 03 /2012 20,/03,/5013 04704 /2012

Timz [atart of day]
F14 vir [ppmv] far pressure 100.0 hPa
1.0 : : :
b ............................. ............................ oo ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
>

22
.

Caily averaga [ase title]

0.2
R+ ] H 0 H ! H
O 0,00 (010,00 000,00 000,00 {000, B Q0:00.00 (03061,
05 /01 /2012 20,01 /2012 04 /02,2012 19,702 /2012 05,/03 /2012 2070372012 04 /0 /2012

Tirn= [El’tu:lrt of dﬂ}"]



F22 vmr [pprrv] for pressure 100.0 hPa

4.5x107

FOR e S e drrsoresresrmsnneonnennennes AR L L LA LA L AR 3

35x=1074 ---------------------------- dbscoronsesesensnssnanananh ---------------------------- T LTINENEY ---------------------------
E ¥ ] : ) : : : H—+—9C to —80 deg
o ] e e R A S R R R R s e U pe—BO to —65 deg
2 : : ; : : V| fe—BS ta —20 deg
e o Bl ottt ottt ottt etttk et R TR OO TTERERET TSR RRPI R P PES EORTEREERT TR ERPOE R RR i ——
= d : . : H p 20 to &5 deg
: : : : : : i | 68 ta 80 deg
Sl e ikl ---------------------------- s L, B0 to 90 deg
o2 : : : : : :

o e e forearm e frosraseasensanenennnas o oo

10mAe T --------------------------- ---------------------------- fommmmmrenn e

Ba0x1078

D000, 00 O 00,00 L0000 Q000,00 0000, 00 D000, 00 Q00,00
05,701 /201 % 20,01 /2012 o4,/02 /2012 19,/08,/201% 05,/03 /2012 20/03/301% 04 /04 /2012

Timz [atart of day]

Temperature [K] for pressure 10,0 RPa

H—+—9C to —E0 deg
[#—+—BC to —B5 deg
e—0 to —20 deq
EE1-20 to 20 deg
20 to &5 deg
—BS to 80 dag
B0 to 90 deg

Caily averaga [ase titla]

200

KA A A 04,00 D000, 00 a0 ;00,00 Q000,00 000000 ;00,00
05701 /2012 26,01 /2012 04/02,3012 19,/05,/2012 05,/03,/2012 20/03,3012 0470472012
Timz [atart of day]



33

32

Caily avaraga [Eee t'ltla]
La
e

]
i)

28

Tangant altitude [km] for pressure 10.0 hPa

H—+—0C to —E0 deg
[+—*—B0C to —65 deg
F—00 to —20 deg
EHE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

7
Oz 20, 240 000,00 D00, 00 000050 Oo:00, 00 Q0 0L 00 0 00,00
{15 A1 /501 20,401 /2012 o4 f02 73012 18,700 /2012 (15 /013 /20112 260/03 75012 04704 2012
Time= [atart of day]
H2O wrnr [ppry] far pressure 19.0 hPa
o : : :
7.0

Caily averaga [ase title]
m =
=] tn

vl
n

5.0

4.5

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

D000, 0€: 00,00 O0:00.00 000050 (800,00 O0:00.00 0C: 00,00
5 £ 501 20,01 /2012 4 2 /3012 18 /0% /2012 05,/ 03 /5012 20,03 /5012 O 7534 /2012

Tirz [atart of dayv]



Caily average [zee title]

03 vmr [ppmy] for pressure 1000 hPa

12
T H——00 ta —E0 deg
e I [ —B0 to —65 dag
B, F—4—B5 to —20 deg
P [F-E-20 ta 20 deg
m
o 20 to &5 deq
5 65 to 80 dag
= 8 B0 to 90 deg
&
4
2
Oz 20, 240 000,00 D00, 00 000050 Oo:00, 00 Q0 0L 00 0 00,00
{15 A1 /501 20,401 /2012 o4 f02 73012 18,700 /2012 (15 /013 /20112 260/03 75012 04704 2012
Time= [atart of day]
HMO3 wmr [ppry] for pressure 10.0 hPa
£.008 ; : :
0.007
0.006 H——00 to —E0 deg
B0 ta —BS deg
=G5 to =20 deg
) [F-E1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deg
3,004
0.003
o002
00z 20, 240 000,00 D000, 00 000000 0o:00, 00 Q0 0L 00 0 00,00
{5 A1 /5012 20,401 /2012 o4 f02 79012 18,7000 /2012 (5 /03 /2012 260/03 75012 04704 /3012

Tirz [atart of dayv]



CH4 wmr [ppmy] for pressure 10.0 hPa

| | s o & |
g I g - R e i

Caily averaga [==s title]

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
—e—fG to —20 deg
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

04,00 D000, 00 a0 :00.00 Q000,00 Q000,00 000,00
26,/01 /2612 04,712 /2012 19,705 /2012 05,/03,/2012 20,/03/5012 04754 /2812
Time= [atart of day]

0.2
D0500,00
05 /01 /5012
0.25
0,20
015

M2 vrnr [ppryv] far pressure 19.0 hPa

=
=
=]

Cally oiverage [see tltla]

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

: i ; i 20 to &5 deg

; b e e s S s e i | |65 to 80 deg
................................................ Sy At e i A B B i i e iyt i

. B oL S0 to 90 dag

bl

0.0%

0.0

R AR W T O
Ve i i 5 5

D500,
5 £ 501

040,00 D000, 00 a0 :D0.50 Q500,00 003000 000,00
20/01 /2012 04,702 /2012 19,705 /2012 05/03,/2012 20/63/5015 04 /54 /2012
Tirz [atart of dayv]




Caily average [see title]

Caily average [zee title]

MNOZ wmr, sun elev==0 [ppmy] for pressure 10.0 hPa
0.007 ; : :

C.006

o.005

©.004

003

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

0.002 JTX _ i k

OO0 [ TRl é. ............................ S R R E ............................ .i ............................ E

e

IV, I

0,008

[N AN A A 04,00 D000, 00 a0 :00.00 Q000,00 Q000,00 000,00
05,401 /5012 26,/01 /2612 04,712 /2012 19,705 /2012 05,/03,/2012 20,/03/5012 04754 /2812
Time= [atart of day]

MOZ wmr, sun elev<=0 [ppmy] for pressure 10,0 RPa
o.018 : : :

EARE

D.012 |- gagrPpass

O01G

C.O08[--

0,008

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

o004

G002

0,005

00 30,00 00,00 D000, 00 a0 :D0.50 500,00 003000 000,00
05,401 /5013 20/01 /2012 04,702 /2012 19,705 /2012 05/03,/2012 20/63/5015 04 /54 /2012
Tirz [atart of dayv]




Daily averaga [ase titla]

—/

Daily averaga [ase title

h

431078

Jx10"

b el

1:1078

o

i)
05 /i1

00012

00018

0.cons

0.C00E

0,004

0.0002

R

F11 vmr [ppmy] far pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

0.0 04,00 D000, 00 a0 :00.00 Q000,00 Q000,00 000,00
Ja012 26,/01 /2612 04,712 /2012 19,705 /2012 05,/03,/2012 20,/03/5012 04754 /2812
Time= [atart of day]

CLMO vmr [ppmy] far pressure 10.0 RPa

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

D000, 0€: 00,00 O0:00.00 000050 (00,00 O0:00.00 0C: 00,00
5 £ 501 20,01 /2012 4 2 /3012 18 /0% /2012 05,/ 03 /5012 20,03 /5012 O 7534 /2012

Tirz [atart of dayv]




Caily overage [see title]

MZDE vmr [pprmy] for pressure 10.0 hPa
0.005 : : :

. 004

0 [——a0 to —50 deg
" a.003 B0 ta —BS deg
i ——85 ta —20 deg
w [F-E1-ZC ta 20 deg
=4 20 to 65 dag

& s 65 to 80 dag
= B0 to 90 deg

a

0,001

0,008
[N AN A A 00,00 D000, 00 a0 0000 Q000,00 Q000,00 000,00
05,401 /5012 20,/01 /2612 04,712 /2012 19,705 /2012 05,/03,/2012 20,/03/5012 04/54,/2812
Time= [atart of day]

F12 vmr [ppmy] far pressure 10.0 hPa
I : : :

25x107

z.0x107 H——90 ta —E0 deg
[ B0 ta —B5 deg
=05 to =20 deg
B [F-E—2C ta 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 90 deg
10x107H--
Box1o™

o
00 30,00 00,00 D000, 00 a0 :D0.50 500,00 003000 000,00
05,401 /5013 20/01 /2012 04,702 /2012 19,705 /2012 05/03,/2012 20/63/5015 04 /54 /2012
Tirz [atart of dayv]




Caily avaraga [eee titla]

Caily overage [see title]

35«07

N E [ B

2.8x107

20x1o7

1.5x107

10x107

COFZ wmr [pprv] for pressure 10.0 hPa

H—+—9C to —80 deg
[#—#—BC to —B5 deg
e—0G to —20 deq
FE1-20 to 20 deg

20 to &5 deg

—BS to 80 dag

B0 to 00 deg

O 00,050 (000,00 050000 000,00 100, 0 O0:00.05 (0% 00,000
05 A1 /5012 20,401 /2012 o4 /02 73012 19,7013 /2013 (5 /03 /2012 20/03/5012 04704 /2012

25=1078

20xip™

1.5%1078

101078

Eox1o7l

—5.0x107"

—1.0x107F

—1.5x157"

Timz [atart of day]

CCL4 vmr [pprev] far pressure 19.0 hRa

H—+—9C to —E0 deg
[#——BC to —B5 deqg
—e—00 to 20 deq
EE1—20C to 20 deg

20 to &5 deg

64 to 30 deg

BO to 90 deg

O3, C O 0a,00 D000, O a0 0oL L0 Q800,00 O30 00 Q0,00

05 /01 /2012 20,01 /2012 04 /02,2012 19,702 /2012 05,/03 /2012 2070372012 04 /0 /2012

Tirn= [El’tu:lrt of dﬂ}"]




HCH wrr [pprov] for pressure 10.0 hPa

1.0 '
T H—+—00 ta B0 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
E ............................ Dot ee ittt ssse s s s s s s s s s s anaaaa s an s e s Lttt eesesnsssssssssssasnssapansssssasnssassnsnsssssnssasbin it ittt i i i ity _Eﬁ tn EG dEE
SRk : : : &0 to 90 deg
&

0.2

0.8

Oz 2, 2R 000,00 (IR EAN Y 000000 00, 00 D0 D0 00 0 00,00
05,01 /5013 20701 /2012 o402 /3012 19 7092 /2012 015,/ 03 /2012 20,/03,/5013 04704 /2012

Timz [atart of day]
F14 vmr [ppmy] far pressure 10.0 hPa
1.0 : 5 :
b ............................. ............................ oo ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq

[
>

22
.

Caily averaga [ase title]

0.2
R+ ] H 0 H ! H
O 0,00 (010,00 000,00 000,00 {000, B Q0:00.00 (03061,
05 /01 /2012 20,01 /2012 04 /02,2012 19,702 /2012 05,/03 /2012 2070372012 04 /0 /2012

Tirn= [El’tu:lrt of dﬂ}"]



Caily overage [see title]

28x107

20x107

1.5x107

10107

P L

o

F22 vmr [ppmy] far pressure 10.0 hPa

H—+—9C to —80 deg
[#—#—BC to —B5 deg
e—0G to —20 deq
FE1-20 to 20 deg

20 to &5 deg

—BS to 80 dag

B0 to 00 deg

O 00,00 (000,00 050000 000,00 100, 00 O0:00.05 (0% 00,000
05 A1 /5012 20,401 /2012 o4 /02 73012 19,7013 /2013 (5 /03 /2012 20/03/5012 04704 /2012

Timz [atart of day]

2a9b

280

w70 LT Ny

280

250

244

Caily averaga [ase titla]

230G

220

210

Temperature [K] for pressure 1.0 hPa

i o

i i, T s o e N T e

H—+—9C to —80 deg
[#—#—BC to —B5 deg
e—0G to —20 deq
FE1-20 to 20 deg

20 to &5 deg

—BS to 80 dag

B0 to 00 deg

O 00,00 (000,00 050000 000,00 100, 00 O0:00.05 (0% 00,000
05 A1 /5012 20,401 /2012 o4 /02 73012 19,7013 /2013 (5 /03 /2012 20/03/5012 04704 /2012

Timz [atart of day]




a1

Bl

44

&

Caily avaraga [Eee t'ltla]
5

Tangent altitude [km] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg

20 to &5 deq
&5 to 80 deg
45 B0 to 90 deg
45
A
43
Oz 20, 240 000,00 D00, 00 000050 Oo:00, 00 Q0 0L 00 0 00,00
05 /01 /5012 20,/01 72012 04,02 73012 19,/02,/2012 05,/03 /2012 204033012 04 /4 /2012

Time= [atart of day]

Cogily civerage [see titla]

3

HZC wimr [pprmy] far pressure 1.0 hPa

H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
FE1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
B0 to 00 deq

D000,
5 £ 501

0€: 00,00
20,01 /2012

O0:00.00
4 2 /3012

a0 :D0.50
19,705 /2012
Tirz [atart of dayv]

(800,00
05,/ 03 /5012

O0:00.00
20,03 /5012

0C: 00,00
O 7534 /2012



Daily averaga [ase titla]

o.E

5.0

+.5

4.0

Caily averaga [==s title]

3.0

2.5

2.0

A5

03 wmr [ppmy] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg

DO500,00 (¢: 00,00 O0:00,00 00:00,00 (000,00 O0:00.00 000,00
05 /01 /5012 20,01 /2012 04 /12 /3012 18,702 /2012 05,03 /2012 20,03 /5012 04,704 /2012

Time= [atart of day]

HMOZ wmr [pprav] for pressure 1.0 hPa

00012
0.0010
0.2008 H——90 ta —E0 deg
63 —EC to —B5 deg
=G5 to =20 deg
Sl [G-E1-2C to 20 deg
20 to &5 deg
B4 to 30 deg
EO to 00 deq
0,C004
04002
0,000
Oz 001, 20 800,00 D000 000000 800, 00 Q00000 000,00
05701 /2012 20,01 /2012 04,02 /2012 19,/02/2012 05/03 /2012 20/03,/%012 Od /04 /2012

Tirz [atart of dayv]
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Caily averaga [==s title]

&
b

0.1

CH4 vmr [ppmy] for pressure 1.0 hPa

EEEEBEJ‘EB%%EEE _______________ ﬁw

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deg
EHE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

0.8
Oz 20, 240 000,00 D00, 00 000050 Oo:00, 00 Q0 0L 00 0 00,00
{15 A1 /501 20,401 /2012 o4 f02 73012 18,700 /2012 (15 /013 /20112 260/03 75012 04704 2012
Time= [atart of day]
MZC wvimr [ppry] far pressure 1.0 hPa
0,020 : : :

D013

Caily average [zee title]
]
o
]

o0

0,005

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

DO:00.00 0¢: 00,00 O0:00,00 000,50 (600,00 O0:00.00 0C: 00,00
5 £ 501 20,01 /2012 4 2 /3012 18 /0% /2012 05,/ 03 /5012 20,03 /5012 O 7534 /2012

Tirz [atart of dayv]




MOZ wrar, sun elev==0 [ppmy] for preasure 1.0 hPa

000168
05014
0.0012
& [——a0 to —50 deg
TE00t %80 to —B5 deg
B, ——B5 to —20 deg
5. 5 HaRR [3-E1-20 ta 20 deg
= 20 to 65 dag
& 65 to 80 dag
2 00006 B0 to 90 deg
a
0,004
0.0002 |-
00000
DO:00,00) (0:00,00 000,00 00:00,00 (000,00 0050000 00:00,00
05 fi f50 20,01 /2012 04 /152 /30 2 18 /00 /9011 2 05,03 /2012 26,03 /501 2 04734 /201 2
Time= [atart of day]
MOZ wmr, sun elev<Q [ppmy] for pressure 1.0 hPa
0025 : : :
D020
v [——a0 tn 50 deg
- 8015 b —BO ta —BS deg
B =G5 ta —20 deg
w [3-E1—20 ta 20 deg
on
=2 20 to &5 deg
= 65 to A0 deg
= S B0 to 90 deq
=
[ul]
005
£.000 Ry
00z 20, 240 000,00 D000, 00 000000 Oo:00, 00 Q0 0L 00 0 00,00
5 /i /501 2 20,01 /2012 o4 f2 /5012 18 /05 /9012 05,/03 /2012 26,03 /5012 04704 /2012

Tirz [atart of dayv]




1.2x107

1.0%107

Caily overage [see title]

20x107

Daily averaga [ase title]

B.0x=1g78

B.0xio™

+.0x107

F11 wimr [ppmy] for pressure 1.0 hPo

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

o

[N AN A A 04,00 D000, 00 a0 :00.00 Q000,00 Q000,00 000,00
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Temnperature [K] for pressure 100.0 kPa
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